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SEC| IS | FASE | FRE | ASE | RASL | WRE | AL | FLSE | WS | AT FLST.
SERR2TAE 22 7 15 281 40 241 44 — 44 4,579 541 4,038
28 22 7 15 271 34 237 43 — 43 4,266 457 3,809
29 22 7 15 273 35 238 45 1 44 4,104 402 3,702
30 22 7 15 268 30 238 53 3 50 3,903 355 3,548
FHITE 22 7 15 270 35 235 53 3 50 3,957 467 3,490
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GHC | AE | B | WSk | Aaar | Bhor | W | 3r | B | WK | Aar | R
TR 2TAE 4 — 4 107 — 107 16 — 16 1,681 — 1,681
28 4 — 4 129 — 129 13 — 13 1,706 — 1,706
29 4 — 4 128 — 128 13 — 13 1,546 — 1,546
30 4 — 4 122 — 122 14 — 14 1,536 — 1,536
FHITE 6 — 6 160 — 160 17 — 17 1,640 — 1,640
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